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GEOGRAPHY

ŷJmob

(316)

Time : 3 Hours ] [ Maximum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) There are 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Question Nos. 1 and 2 are on filling Outline Maps of the World and India

respectively. Each question contains 4 test-items of very short answers of

1 mark each.

(v) Question Nos. 3 to 6 are very short answer questions carrying 1 mark each.

Answer to these questions should not exceed 30 words each.

(vi) Question Nos. 7 to 11 and 21 & 22 are also very short answer questions

carrying 2 marks each. Answer to these questions should not exceed

60 words each.

(vii) Question Nos. 12 to 15 and 23 & 24 are short answer questions carrying

4 marks each. Answer to these questions should not exceed 100 words each.

(viii) Question Nos. 16 to 20 are long answer questions of 6 marks each. Answer

of each of the questions should not exceed 140 words.

(ix) Use of templates or stencils for drawing outline maps in illustrating your

answer is allowed.

(x) Answer of Question Nos. 21 to 24 should be given from any one of the

Options.
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{ZX}e : (i) ‡ÌZm| H$s Hw$b gßª`m 24 h°ü&

(ii) g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ {ZYm©[aV AßH$ {XE JE h¢ü&

(iv) ‡ÌZ gßª`m 1 Am°a 2 H´$_e:  gßgma Am°a ^maV Ho$ aoIm_mZ{MÃm| Ho$ ^aZo na hß°ü& ‡À òH$ ‡ÌZ _| A{V
bKw-CŒmam| H$s 4 narjU-_X| 1 AßH$ H$s h¢ü&

(v) ‡ÌZ gßª`m 3 go 6 A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ H$m 1 AßH$ h°ü& Eogo ‡À òH$ ‡ÌZ H$m CŒma 
30 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vi) ‡ÌZ gßª`m 7 go 11 VH$ Am°a 21 VWm 22 ^r A{V bKw-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 2 AßH$
h¢ü& BZ_| go ‡À òH$ ‡ÌZ H$m CŒma 60 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(vii) ‡ÌZ gßª`m 12 go 15 Am°a 23 VWm 24 bKw-CŒmar` ‡ÌZ h¢, {OZ_| go ‡À òH$ Ho$ 4 AßH$ h¢ü& BZ
‡ÌZm| H$m CŒma 100 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(viii) ‡ÌZ gßª`m 16 go 20 VH$ XrK©-CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 6 AßH$ h¢ü& Eogo ‡À òH$ ‡ÌZ H$m
CŒma 140 e„Xm| go A{YH$ H$m Zht hmoZm Mm{hEü&

(ix) AnZo CŒma H$mo ÒnÔ> H$aZo Ho$ {bE aoIm_mZ{MÃ ~ZmZo Ho$ {bE gm±Mm| `m ÒQ>|{gbm| Ho$ ‡`moJ H$s AZw_{V Xr 
OmVr h°ü& 

(x) ‡ÌZ gßª`m 21 go 24 VH$ Ho$ CŒma {H$gr EH$ {dH$În _| go Xr{OEü&

SECTION–A

I S>–A

1. Four geographical features with serial numbers (1) to (4) are marked on the

given Political Outline Map of the World. Identify these features with the help of

the following information and write their correct names in your answer-book

against each number : 1×4=4

(1) A Mountain; (2) A River; (3) A Country of Asia and (4) A Sea.

gßgma Ho$ {XE JE amOZ°{VH$ aoIm_mZ{MÃ _| Mma> ^m°Jmo{bH$ bjUm| H$mo gßª`m (1) go (4) VH$
{XIm`m J`m h°ü& BZ bjUm| H$mo {ZÂZ{b{IV OmZH$mar H$s _XX go nhMm{ZE Am°a CZHo$ ghr Zm_ AnZr 
CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IE :

(1) nd©V; (2) ZXr; (3) E{e`m H$m EH$ Xoe VWm (4) gmJaü&
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2. The following four geographical features with serial numbers (1) to (4) are

marked on the given Political Outline Map of India. Identify these features with

the help of the following information and write their correct names in your

answer-book against each number : 1×4=4

(1) A Mountain; (2) A River; (3) A Centre of Textile Industry and (4) A Major

Sea Port.

^maV Ho$ {XE JE amOZ°{VH$ aoIm_mZ{MÃ _| {ZÂZ{b{IV Mma> ^m°Jmo{bH$ bjUm| H$mo gßª`m (1) go (4)

VH$ {XIm`m J`m h°ü& BZ bjUm| H$mo ZrMo Xr JB© OmZH$mar H$s _XX go nhMm{ZE Am°a CZHo$ ghr Zm_
AnZr CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IE :

(1) nd©V>; (2) ZXr; (3) dÛ C⁄moJ H$m EH$ Ho$›– VWm (4) ‡_wI g_w–r nŒmZü&

3. What is atmosphere? 1

dm`w_ßS>b {H$go H$hVo h¢?

316/OSS/208A 5 [ P.T.O.
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4. Which is the lowest layer of the atmosphere? 1

dm`w_ßS>b H$s g~go {ZMbr naV H$m°Z-gr h°?

5. Define the term resource. 1

gßgmYZ e„X H$s n[a^mfm Xr{OEü&

6. Where is dry farming practised? 1

ewÓH$ H•${f H$m ‡MbZ H$hm± h°?

7. Distinguish between sedimentary rocks and metamorphic rocks by giving one

point of differentiation of each. 1×2=2

‡À òH$ Ho$ {bE {d^oXrH$aU H$m EH$ {~›Xw XoVo h˛E AdgmXr e°bm| Am°a Í$nmßV[aV e°bm| _| AßVa ÒnÔ>
H$s{OEü&

8. Explain any two features of natural resources. 1×2=2

‡mH•${VH$ gßgmYZm| Ho$ {H$›ht Xmo bjUm| H$s Ï`mª`m H$s{OEü&

9. Study the table giving the climatic data of some Major Meteorological Centres of 

India, and answer the questions given below it :

Mean Monthly Temperature and Rainfall in

Major Meteorological Centres in India

T=Temperature (in °Celsius) and P=Precipitation (in mm)

Station T/P J F M A M J J A S O N D

Leh

Shillong

Kolkata

Delhi

T

P

T

P

T

P

T

P

-8

10

10

14

20

12

14

21

-7

8

11

29

22

28

17

24

-1

8

16

56

27

34

23

13

9

5

19

146

30

51

29

10

10

5

19

295

30

134

34

10

14

5

21

476

30

290

35

68

17

13

21

359

29

331

31

186

17

13

21

343

29

334

30

170

12

8

20

302

29

253

29

125

6

5

17

188

28

129

21

14

0

0

13

36

24

27

20

2

-6

5

10

10

20

4

15

9

(a) Calculate the mean annual temperature of Leh.

(b) How much is the annual precipitation of Leh? 1+1=2
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^maV Ho$ Hw$N> ‡_wI _m°g_{dkmZ-gß~ßYr Ho$›–m| Ho$ Obdm`w-gß~ßYr Am±H$ãS>m| H$mo ‡X{e©V H$aZo dmbr Vm{bH$m
H$m A‹``Z H$s{OE VWm CgHo$ ZrMo {XE ‡ÌZm| Ho$ CŒma Xr{OE :

^maV Ho$ ‡_wI _m°g_{dkmZ-gß~ßYr Ho$›–m| H$m Am°gV _m{gH$ Vmn_mZ d dfm©
Vm.=Vmn_mZ (°gopÎg`g _|); d.=dfm© ({_0_r0 _|)

Ho$›– Vm./d. O. \$. _m. A. _. Oy. Ow. A. {g. A. Z. {X.
boh

{ebm¢J

H$mobH$mVm

{XÑr

Vm.
d.

Vm.
d.

Vm.
d.
Vm.
d.

-8

10

10

14

20

12

14

21

-7

8

11

29

22

28

17

24

-1

8

16

56

27

34

23

13

9

5

19

146

30

51

29

10

10

5

19

295

30

134

34

10

14

5

21

476

30

290

35

68

17

13

21

359

29

331

31

186

17

13

21

343

29

334

30

170

12

8

20

302

29

253

29

125

6

5

17

188

28

129

21

14

0

0

13

36

24

27

20

2

-6

5

10

10

20

4

15

9

(H$) boh H$m Am°gV dm{f©H$ Vmn_mZ {H$VZm h°?

(I) boh H$m dm{f©H$ df©U {H$VZm h°?

10. Define density of population. What is the density of population of India

according to 2001 Census? 1+1=2

OZgßª`m KZÀd H$s n[a^mfm Xr{OEü& 2001 H$s OZJUZm Ho$ AZwgma ^maV H$s OZgßª`m H$m KZÀd
{H$VZm h°?

11. Why did tribal people settle in areas of harsh environmental conditions?

Explain in two points. 1+1=2

dZdmgr OZOm{V Ho$ bmoJ H$R>moa n`m©daUr` XemAm| dmbo joÃm| _| ä`m| ahVo h°ß? Xmo {~›XwAm| _| ÒnÔ>
H$s{OEü&

12. Name the four main branches of systematic geography and explain the main

features of each of its four branches. 2+2=4

H´$_~’ ^yJmob H$s Mma _wª` emImAm| Ho$ Zm_ ~VmBE VWm Mmam| emImAm| _| go ‡À òH$ H$s ‡_wI
{deofVmAm| H$s Ï`mª`m H$s{OEü&
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13. What is salinity and how is it expressed? Why is there high salinity in Red Sea?

Explain in two points. 1+1+2=4

bdUVm {H$go H$hVo h¢ VWm Bgo {H$g ‡H$ma ‡H$Q> {H$`m OmVm h°? bmb gmJa _| CÉ bdUVm ä`m|
nm`r OmVr h°? Xmo {~›XwAm| _| ÒnÔ> H$s{OEü&

14. Explain the physical and socio-economic factors that influence the population

distribution and density. 2×2=4

OZgßª`m Ho$ {dVaU Am°a KZÀd H$mo ‡^m{dV H$aZo dmbo ^m°{VH$ Am°a gm_m{OH$-Am{W©H$ H$maH$m| H$s
Ï`mª`m H$s{OEü&

15. What is landslide? Suggest any three measures to control landslide and

mitigate their impacts. 1+3=4

^yÒIbZ {H$go H$hVo h¢? ^yÒIbZ H$mo amoH$Zo Am°a BgHo$ XwÓ‡^mdm| H$mo H$_ H$aZo Ho$ H$moB© VrZ Cnm`
gwPmBEü&

16. Describe any six methods to control soil erosion. 1×6=6

_•Xm-AnaXZ Ho$ {Z`›ÃU H$s {H$›ht N>Ö {d{Y`m| H$m dU©Z H$s{OEü&

17. Describe the three factors that influence the amount of insolation received on

the Earth’s surface. 2×3=6

YamVb na ‡m· gỳ m©Vn H$s _mÃm H$mo ‡^m{dV H$aZo dmbo VrZ H$maH$m| H$m dU©Z H$s{OEü&

18. Define the terms Terrestrial ecosystem and Aquatic ecosystem. Describe two

characteristics of each ecosystem. 2+2+2=6

ÒWbr` nm[aVßÃ Am°a Obr` nm[aVßßÃ nXm| H$s n[a^mfm Xr{OEü& ‡À òH$ nm[aVßÃ H$s Xmo {deofVmAm| H$m
dU©Z H$s{OEü&

19. Describe the significance of resources in three points. 2×3=6

gßgmYZm| Ho$ _hÀd H$m VrZ {~›XwAm| _| dU©Z H$s{OEü&

20. Explain any six issues in agricultural development. 1×6=6

H•${f {dH$mg _| {H$›ht N>Ö _wX≤Xm| H$mo ÒnÔ> H$s{OEü&
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SECTION–B

I S>ç~

OPTION–I / {dH$ÎnçI

( Local Area Planning )

( ÒWmZr` joÃ {Z`moOZ )

21. Water harvesting and management are essentials for need-based planning.

Explain it in two points. 1×2=2

Ob gßJh́U Am°a ‡~ßY AmdÌ`H$Vm-AmYm[aV {Z`moOZ Ho$ {bE A{Zdm ©̀ h¢ü& BgH$s Xmo {~›XwAm| _|
Ï`mª`m H$s{OEü&

22. Study the map of Village Akbarpur given below carefully and answer the

following questions :

(a) Draw the symbol in your answer-book that represents the tree plantation

in the map.

(b) How many trees have been shown in the map? 1+1=2

316/OSS/208A 9 [ P.T.O.

VILLAGE AKBARPUR
( CENTRAL INDIAN PLATEAU )

PUBLIC UTILITIES, COMMON PROPERTY RESOURCES 
AND HUMAN SETTLEMENT PATTERNS

Hand pump

Police Checkpost

Blacksmith

PUBLIC UTILITIES, PROPERTY RESOURCES & SETTLEMENT SITES

Dispensary
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AH$~anwa Jm±d Ho$ _mZ{MÃ H$m ‹`mZnyd©H$ A‹``Z H$s{OE VWm {ZÂZ{b{IV ‡ÌZm| Ho$ CŒma Xr{OEü:

(H$) AnZr CŒma-nwpÒVH$m _| Cg {Mï H$mo ~ZmBE Omo _mZ{MÃ _| d•jmamonU H$mo Xem©Vm h°ü&

(I) _mZ{MÃ _| {H$VZo noãS> {XImE JE h¢ü?

23. Explain the process of conducting interviews to collect the data in four points. 1×4=4

Am±H$ãSo> EH$Ã H$aZo Ho$ {bE gmjmÀH$ma boZo H$s ‡{H´$`m H$mo Mma {~›XwAm| _| ÒnÔ> H$s{OEü&

24. Explain four priorities of planning for the improvement of slum areas of

Indian cities. 1×4=4

^maVr` ZJam| Ho$ _{bZ ~ÒVr joÃmo| Ho$ gwYma Ho$ {bE {Z`moOZ H$s Mma ‡mW{_H$VmAm| H$s Ï`mª`m
H$s{OEü&

316/OSS/208A 10

Jm±d-AH$~anwa
(_‹` ^maVr` nR>ma)

gmd©O{ZH$ Cn`mo{JVmE±, gß`w∫$ gßn{Œm gßgmYZ
Am°a _mZdr` Amdmg ‡{VÍ$n

~m±Xm

IoV

IoV

~m±Xm

IoV

_rQ>aH$adr

Hw$Am±
gmd©O{ZH$ Cn`mo{JVmE±, gßn{Œm gßgmYZ Edß A{Ydmg ÒWb

em°Mmb`
h° S> nÂn
XdmImZm
S>mH$Ka
gmd©O{ZH$ Xya^mf Ho$›–
nw{bg MoH$nmoÒQ>

‡mW{_H$ {d⁄mb`
Oy{Z`a ÒHy$b
d•jmamonU
MamJmh

bwhma
Ymo~r

Vmbm~

~ãT>B©
dmhH$
H•${f l{_H$
H•$fH$
~wZH$a
XwH$mZ|
_pÒOX

_ß{Xa
aob

gãS>H$
nhmãS>r
H$~´ßo
edXmh J•h
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OPTION–II

{dH$ÎnçII

( Geography of Tourism in India )

( ^maV _| n`©Q>Z-^yJmob )

21. Explain by giving any two facts that coastal waters of mainland of India and of

islands are another sources of tourist attraction. 1×2=2

H$moB© Xmo Vœ` XoH$a g_PmBE {H$ ^maV Ho$ _wª` VQ>r` Ob Am°a CgHo$ ¤rnm| Ho$ Mmamo| Amoa {dÒV•V Ob
n ©̀Q>H$m| Ho$ AmH$f©U Ho A›` ÚmoV h°ßü&

22. ‘‘An irregulated rush of visitors to areas of tourist interest, puts a great

pressure on local resources.’’ Support this statement with any two suitable

arguments. 1×2=2

""n ©̀Q>H$ H$s È{M Ho$ joÃm| _| n`©Q>H$m| H$m A{Z`{_V ^mar ‡dmh ÒWmZr` gßgmYZm| na AÀ`{YH$ X~md
S>mbVm h°üü&'' {H$›hrß Xmo Cn`w∫$ VH$m] ¤mam Bg H$WZ H$s nw{Ô> H$s{OEü&

23. Why is India a land of varied climate? Explain any four factors responsible for

the varied climate of India. 2+2=4

^maV {d{dY ‡H$ma H$s Obdm ẁ H$s ^y{_ ä`m| h°? ^maV _| {d{dY Obdm`w Ho$ {bE CŒmaXm`r {H$›ht
Mma H$maH$m| H$s Ï`mª`m H$s{OEü&

24. Keeping the State as a base, make four correct groups from the following three

columns : 1×4=4

State Cultural Centre Monument

(1) Punjab (a) Kirti Stambh (i) A deserted fort city

(2) Rajasthan (b) Mandu (ii) A major Sikh Shrine

(3) Madhya Pradesh (c) Harmindar Saheb (iii) A ruined ancient capital city

(4) Karnataka (d) Hampi (iv) A Rajput king’s Victory Tower

am¡` H$mo AmYma _mZH$a ZrMo {XE JE VrZ ÒVß^m| _| go Mma ghr g_yh ~ZmBEü :

am¡` gmßÒH$•{VH$ Ho$›– Ò_maH$

(1)  nßOm~ (a)  H$s{V©-ÒVß̂ (i)  n[aÀ`∫$ XwJ© ZJa

(2)  amOÒWmZ (b)  _m±Sy (ii)  {gIm| H$m ‡_wI JwÈ¤mam

(3)  _‹` ‡Xoe (c)  haq_Xa gm{h~ (iii)  ^æmdeof ‡mMrZ amOYmZr ZJa

(4)  H$Zm©Q>H$ (d)  hÂnr (iv)  EH$ amOnyV amOm H$m {dO` ÒVß̂

H H H
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